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Answers for 6.5
For use with pages 391-395

6.5 Skill Practice
1. PX CB, PO

2. You would need to know that
one pair of corresponding sides
1s congruent.

TR
52 W82
o 10_16_202
"3 M S
5. ARST 6. AJKL
7. similar; AFDE ~ AXWY;2:3
8. not similar
9. 3;
X
4(n+ 1)
P
4
R |5 @ 2 n— 1 Y
. FH _ HK
10. AGHJ ~ AFHK; GH — HJ
JAF 4 :
TS thus the triangles

are similar by the SSS Similarity
Theorem.

11.

12.

13.

14.
15.

AABC ~ ADEC; LACB =
Z DCE by the Vertical Angles
Congruence Theorem and

A B 3 .
C-EC- 2 The triangles are
similar using the SAS Similarity
Theorem.

AXYZ ~ ADJG; £D = £X and
1))(_3 = /%J, = % The triangles are

similar by the SAS Similarity
Theorem.

Sample answer: The triangle
correspondence is not listed in the
correct order; AABC ~ ARQP.

D
F 4
X 66 34 v
N
80°
L 38 M

They are similar by the AA
Similarity Postulate.
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16. T

H 30 G

They are not similar since the
larger side in ARST would
not be opposite the largest angle.

17. E

24 8x

A 54 c

They are not similar since the
ratio of corresponding sides is
not constant for any arrangement
of side lengths.

18. 53° 19. 45°  20. 82°
21.24 22. 42 23. 16V2

24. ANSM and ANRP,
ANSL and ANRQ,
ANLM and ANQP

3 9
25. > 26. 4

27. In similar triangles the ratio of
the areas is the square of the scale
factor. Sample answer: Let the
base and height of AVIWX
measure 3a and 3b and the base
and height of AABC measure 2a

and 2b. The ratio of their areas is

3a(3b)
B

2a(2b)
2

9
2

6.5 Problem Solving

28. AA Similarity Postulate; in
NAGB £ A and LAGB are
congruent to £ 4 and ZAFC in
NAAFC.In AAFC £ A and LAFC
are congruent to £ A4 and LAED
in AAED.

29. The triangle whose sides measure
4 inches, 4 inches, and 7 inches is
similar to the triangle whose sides
measure 3 inches, 3 inches, and
5.25 inches.

v § B
30. (é—E is the same scale factor as

the other ratio.

38. LCBD = LCAE

33. OAA
ke T ake

) 8,24,

Geometry
Answer Transparencies for Checking Homework A14



Copyright © by McDougal Littell, a division of Houghton Mifflin Company.

Answers for 6.5 e
For use with pages 391-395

32.

33.

34.

W
(3]

20° 3

20°
AXYW is not similar to AXZW

a. AA Similarity Postulate
b. 80 ft

c. 70.8 ft
a. 8, 24;
e
30 8
18
-
24
1
b. 3
C. yes; yes

. Sample answer: Given that D and

E are midpoints of 4B and BC
respectively the Midsegment
Theorem guarantees that

AC || DE. By the Corresponding
Angles Postulate £ 4 = £ BDE
and so £ BDE is a right angle.
Reasoning similarly AB || EF. By
the Alternate Interior Angles
Congruence Theorem £ BDE =
£ DEF. This makes £ DEF a right
angle that measures 90°.

36.

37.

38.

6.5

39.

42.

43.

Yes. Sample answer: All pairs
of similar triangles have angle
pairs whose measures are in
proportion (with constant of
proportionality 1).

Sample answer: Locate G on AB
so that GB = DE. Draw GH so
that GH || AC. This makes

A ABC ~ AGBH by the AA
Similarity Postulate. From this
similarity you have

AB _ AC
GB GH

what’s given, you get

Using this along with
GH _ GB
DF — DE
which implies that GH = DF,
making AGBH = ADEF.
Finally, use the definition of
congruent triangles and the

AA Similarity Postulate to
conclude A ABC ~ ADEF

about 15.4 ft

Mixed Review PZ 39S

41. S

6 40. 2 10

AAS Congruence Theorem:;
AQRT ~ ASTR

15 44. 24

Quia:

)

S:3 @) not

1‘ “2,21, %S S)L\ ACE~MRS
53 Ql !‘[5; us 5) aMmGLMD \GN
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